Subject: Re: Sky is falling, maybe?
Posted by Jean H. on Thu, 08 Oct 2009 20:21:03 GMT

View Forum Message <> Reply to Message

Jean H. wrote:

> Lasse Clausen wrote:

>

>> | see a distinct difference in the SMOOTH output after the very uppy-
>> downy bit of the data. It seems the documentation should be changed
>> from

Hi,
| don't see any difference here...

IDL> print, 'version
{ x86 Win32 Windows Microsoft Windows 7.0.8 Feb 92009 32 64}
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Jean
IDL> a=smooth(power, 12)
IDL> b=smooth(power, 12, /nan)
IDL> print, where(a-b ne 0)
-1
...and power,a and b are still floats!

Jean
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